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EIER] RNEEENE

18:12:11 | | Wednesday| March | 17 | 200 | |
Decizion | Solution Unit Cost or Total Reduced Basziz | Allowable Allowable
Yariable Yalue Profit cfj)  Contnibution Cost Status | Min. clj)] Max cli]
1] ®1 5.0000 4.0000 200000 0 basic 3.5000 14.0000
2 2 20,0000 7.0000 140,0000 0 basic 2.0000 8.0000
3 x3 0 3.0000 0 -4,3333  at bound -M ¥.3333
N Objective | Function [Max ] = 1600000
] Left Hand Right Hand Slack Shadow Allowable Allowable
Constraint Side Direction Side of Surplus | Price | Min.
1] 1 30,0000 <= 300000 0 0.3333 | 22,5000 90,0000
2 c2 45_0000 <= 45_0000 0 3.3333 \|15.0000 60.0000
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. NCIES
FIER] ENEEENE il [ [C] 2]
REEE
From Coeff. | To Coeff. From To Leaving | Entenng
Range of X3 of X3 |0OBJ ¥Yalue | OBJ ¥Yalue| Slope |Yanable| Yariable
1 000 7.3333 | 160.0000 1600000 1} X1 =3
—a2_ " 7.3333 14,0000\ 160.0000 | 210,0000 | 75000 X2 Slack_C2
| 23—/ 14,0000 M 210,0000 M 15,0000
4 _{_3—,I]I]I]I] I-LJ 160.0000 1600000 0
Max 2= U3+ + CG3aX3
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FIER] ENEEENE il [ [C] 2]
" Bi=lEi

From RHS | To HHS From To Leaving | Entenng
Range ___nl C1 of C1 |0OBJ ¥alue | DBJ ¥alue | Slope |¥anable| Yanable

INLIES 90,0000 |160.0000 1800000 03333 X2 Slack_C1
0000 M 180,0000 180,0000 0

—3—/| 30,0000 22,5000 [160.0000 157.5000 0.3333 X1  Slack_C2
422 5000 157.5000 0 7.0000 X2
L 0 -Infinity | Infeaszible
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FH Linear and Integer Programming

- |=| x|
File Simplex Iteration  Format  Window  Help
El =] 2]
M Final Simplex Tableau - |I:I|ﬂ =
X1 2 X3 Slack_C1 | Slack_C2
Baziz| Cfj] |4.0000(7.0000| 3.0000 0 0 R. H. 5. | Ratio
X1 | 4.0000 11011} 00000 0,6667 06667 -0.3333 5.0000
X2 | 7.0000 | 0.0000 1.0000 06667\ -0.3333 0.6667/ 20,0000
Ci-Zii 1] 0 -43333 160.0000
ad
1 | »
Simplex Tableau Current OBJ = 160,0000 |
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= J—|_ s ﬂ
ElER] HNEEETEIE |2 2]
N -8 ﬂ =
X1 2 X3 Slack_C1 | Slack_C2
Basis Clj) |(4.0000| 7.0000 | 3.0000 M _(—0_ [R H 5 |Ratio
Slack_C1 0 1} -3.0000| -2,0000 1.0000) -2.000 10,0000
1 4 0000 | 10000 20000 2.0000 1] 1.0000) 45.0000
CIi)-Z1i) 0 -1.0000 -5.0000 -10000 1800000
-|
< I
Simplex Tableau Current OBJ = 180,0000 |
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FH Linear and Integer Programming

- |=| x|
File Simplex Iteration  Format  Window  Help
|2 2]
M Final Simplex Tableau = |D|ﬂ =
X1 2 X3 Slack_C1 | Slack_C2
Basis Clil 4.0000 |7.0000( 3.0000 1] ——0__ |R. H. 5. |Ratio
®2 Z.0000 ] 1.0000 ~2.0000 10,0000
Slack_C2 0 -3.0000 0 -2.0000 (-2.0000 1.0000/25%.0000
Clijl-Zfj] | -10.0000 0 -11.0000 -7.00 0 70.0000
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FIER] ENEEENE il [ [C] 2]
" Bi=lEi

From To From To Leaving | Entering
Range o Mector] | p [Vet:tni 0BJ ¥Yalue | OBJ ¥alue| 5Slope |Yanable| Yanable
1 | 3.3323 \160.0000 1100000 -15.0000 X2 Slack_C2
—2= 3.3333 ] 110,0000 M 15,0000
0 -0,33332 (160,0000 | 1650000 -15,0000 *1 Slack_C1
-0,.3333 -M 165.0000 M -22 5000
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FH Linear and Integer Programming
File Format Results  Ukilities  Window  Help

REE

REEIE
From To Ji From To Leaving | Entenng
Range _|_|__["¢l'ectnl] n [Yector] | 0BJ Yalue | OBJ Yalue | Slope |Yanable| ¥Yariable
1 D 15.0000 |160.0000 1050000 -3.6667 ®1 Slack_C2
2 7 15,0000 30,0000 \105.0000 1] -7.0000 2
3 0.0000
4[| o M -3.6667
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FH Linear and Integer Programming

- |=| x|
File Simplex Iteration  Format  Window  Help
El =] 2]
M Final Simplex Tableau - |I:I|ﬂ =
X1 2 X3 Slack_C1 | Slack_C2
Basis Clil 4.0000 |7.0000( 3.0000 N R. H. 5. | Ratio
®2 Z.0000 1N} 1,0000 2.0000 1.0000 0\10.0000
Slack_C2 0 -3.0000 0 -2.0000 \-2.0000 1.0000/ 5.0000
Clijl-Zfj] | -10.0000 0 -11.0000 70.0000
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Simplex Tableau Current OBJ = 70,0000
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